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A BCDEFGD HIJ K LMINNOP PQRSLQIT NJIUOLL QT K MQV O PONOTPOTM
PIV KQT W XO IYMKQT MZO KL[VNMIMQUL I\ MZO MJQN ]OM O^ QM MQV O_O^ QM NI`
LQMQIT_IaOJLZIIM \IJ MZO PQLUJOMO][ LMINNOP bS]OJ LUZOV O c dOJO W MZO
IaOJLZIIM V OKTL MZO PQLMKTUO MI MZO YISTPKJ[ I\ MZO NJIUOLL XZOT QM
O^ QML MZO PIV KQT c eL K fJLM UITLOgSOTUO I\ MZQL JOLS ]M W XO IYMKQT KT
O^NKTLQIT \IJ MZO XOKh OJJIJ c HJIV MZO O^NKTLQIT KTP MZO LOTLQMQa`
QM[ I\ MZO STPOJ][ QTi j QJQUZ ]OM NJIY]OV X QMZ JOLN OUM MI MZO PIV KQT W
XO fTK]][ POJQaO K NJIUOPSJO MI QVNJIaO MZO UITaOJiOTUO Y[ LSQMKY][
JOLMJKQT QTi MZO PIV KQT c
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Xt = x +

∫ t

0
b(s,Xs)ds +

∫ t

0
σ(s,Xs)dWs
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T > 0

��� � ���}� � ����}� ��� } �}� }��}�� ��� ��� D ⊂]0, T [×R
d ����� }�

�� � } �� ���� �} �}��}
τ := inf{t > 0 : (t,Xt) 6∈ D} v � ��} ���� τ
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T
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x ∈ D0 := {y ∈ R
d : (0, y) ∈ ∂D\∂D ∩ (]0, T [×Rd)} � ��}�} ∂D ��
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g, f, k : D̄ → R
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Ex[g(τ,Xτ )Zτ +

∫ τ

0
Zsf(s,Xs)ds], Zs = exp(−

∫ s

0
k(r,Xr)dr),
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Ex[.] := E[.|X0 = x]
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Px[.] := P[.|X0 = x]
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�~�}� } � ��� ��� } ��}� ∆ > 0
v � }��} ∀t ≥ 0, φ(t) := sup{ti := i∆, i ∈ N :

ti ≤ t < ti+1}
��� �������~}

X∆
t = x +

∫ t

0
b(φ(s),X∆

φ(s))ds +

∫ t

0
σ(φ(s),X∆

φ(s))dWs.
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τ∆ := inf{ti, i ∈ N∗ :

(ti,X
∆
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Vτ := g(τ,Xτ )Zτ+
∫ τ
0 Zsf(s,Xs)

ds
��

V ∆
τ∆ := g(τ∆,X∆

τ∆)Z∆
τ∆ +

∫ τ∆

0
Z∆

φ(s)f(φ(s),X∆
φ(s))ds

����
Z∆

t = e
−
∫ t

0
k(φ(r),X∆

φ(r)
)dr

,
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Err(T,∆, g, f, k, x) = Ex[V ∆
τ∆ − Vτ ]
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Err(T,∆, g, f, k, x) =
C
√

∆+ o(∆)
�� ��} �}�� �}�}��� ���� }���¡ �� ����� }� ���~}��}� �� ��� } �}�� }��}�� ��� ���� v 
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σ
��� ��� } �� �����}�� ���� }���}� ��� D, b, σ, g, f, k
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g(t, x)
� �} �}���} ��

∂β
x g(t, x)

��}
�}�������} ��

g
� v� v� v

x
�~~������ �� ��} ���������}� β

� ��}�}�� ��} ��� }
�}�������} ��

g
�� �}���}� ��

∂tg(t, x)
v ��} �������� ∇g(t, x)

������ ��� ��}
����� �����}�� � v� v� v

x
��� � ��� �}~���� ��� ��} � }����� � ����� ��

g
�� v� v� v

��} ���~} �������}
x
� �� �}���}� ��

Hg(t, x)
v

��} �}~��� ���}� ���}�� �� }����� L
� }��� ������ ��� ��} ������}��� �� �}�}������ �� ��} �������� ��� ~}�� X

�� �uvu� �

�uv�� Lg(t, x) = ∇g(t, x)b(t, x) +
1

2
Tr(Hg(t, x)[σσ∗](t, x)).

• + 1;08� { ��} ��~���}�� ���� �� �}���}� �� | · | v|} �}�
Bd(x, ε)

��� ��} ����� ��~���}��
d���� }������� �� }� ���� � ��� ~}��}�

x
��� ������

ε
���

d(x,C)
��� ��} ��~���}�� ������~} �� � � ���� x

�� � ~���}�
�}�

C
v

• ��2�;832: { ��� �� �� }� �}� D′ ⊂ R × R
d ���

l ∈ N
� Cb l

2
c,l(D′)

��}�� v
Cb l

2
c,l(D′)

� �� ��} ���~} �� ~��������� ���~�����
f
�}��}� �� D′ ���� ~���������� �}�������}�

∂β
x∂j

t f
��� |β| + 2j ≤ l

��}�� v �}��}� �� � �}���� ������ ��
D′� v � ��� � ��� a = l+θ, θ ∈]0, 1], l ∈ N

� �} �}���} ��
Ha(D′)

��}�� v Ha(D̄′)
�

��} ����~� ���~} �� ���~����� �� ~���� Cb l
2
c,l(D′)

��}�� v Cb l
2
c,l(D̄′)

� ������
lth���~} �}�������}� ������� ��

θ�� � ��}� ~��������� ��� bl/2c ��� } �}�������}�
������� ��

(a/2 − bl/2c)�� � ��}� ~��������� � �}} � �}� }�� �� 	��}
�� � � v �� ���
�}����� v |} � �� ������ ����} Cb l

2
c,l �� Ha

��}� D′ = R × R
d v
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D, T, b, σ, g, f, k
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∆
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Opol(∆)
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R(∆)

��~�
���� ∀k ∈ N

� ��� ��� }
C > 0

� ��} ��� |R(∆)| ≤ C∆k
��}�� v |R(∆)| ≤ C∆

�
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� v

uv� v  v �8w 1.:z?�1 >3w ?82: { �� ��} �}��}� D ������ ��� � � ����}� ��� }����~} ��� ��� ��
]0, T [×R

d
�
T

�� � ��}� �}�� ���� ��� }� v �}�

D0 =
{
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~��������� �� ���} ��~� � �� �����}�� ��} ������}� �� � ��� ������� uvuv ��}
����� ���}� ��} ����������� �� ��}��}�   v� �� ��}�}��}� �� ��� }���� v

��� � �� ���}� �� ������} ��} ��}������
F− ��

e∆
2

� �} ��} � ������ �������
�� �� ���}� � v ���� �� � � ��} ���}~� ������~� ���� ��} ��������¡� }��������
�� 	�� ��� ���� ���� ��}��� ��� } �� ~�� ��� } �}�� � v
�� ��} ������ ��� � �} ����}

U
E
= V

��}�� U
E

≤ V
� ��}� ��} }������� � }��}}�

U
���

V
����� �� � }�� �� �� �

Opol(∆)
��}�� v

Ex(U) ≤ Ex(V ) + Opol(∆)
� v

��} ��� �

e∆
2

E
=

(

∑

0≤ti<τ∆

u(ti+1, πD̄ti+1
(X∆

ti+1
))Z∆

ti+1
− u(ti, πD̄ti

(X∆
ti ))Z∆

ti + Z∆
ti f(ti,X

∆
ti )∆

)

1τr0>τ∆
E
=
(

∑

0≤ti<T

1ti<τ∆

[

u(ti+1, πD̄ti+1
(X∆

ti+1
))Z∆

ti+1
− u(ti,X

∆
ti )Z∆

ti

+Z∆
ti f(ti,X

∆
ti )∆

]

)

1τr0>τ∆

���~} ���
ti < τ∆ �

X∆
ti ∈ Dti

��� ����
πD̄ti

(X∆
ti ) = X∆

ti

v ���������� �  v�� �
� ������

Z∆
ti+1

= Z∆
ti (1 − k(ti,X

∆
ti )∆) + O(∆2)

��� � }����� ��� � ������ }��
������� ��

u
�� � ���� (ti,X

∆
ti ) ∈ D ���}�}

u
�� �� ���� � � ��} �}��

e∆
2

E
=
(

∑

0≤ti<T

1ti<τ∆

[

∆ × Z∆
ti (∂tu + Lu − ku + f)(ti,X

∆
ti )

�  v��

+ Z∆
ti ∇u(ti,X

∆
ti ) · ∇F (ti+1,X

∆
ti+1

)F−(ti+1,X
∆
ti+1

)
�  v��

+ O(|F−(ti+1,X
∆
ti+1

)||X∆
ti+1

− X∆
ti |) + O(|F−(ti+1,X

∆
ti+1

)|2)
]�  v	�

+ O(∆3/2+θ/2) + O(|Wti+1 − Wti |3+θ)
)

1τr0>τ∆ .
�  v
�

��} ~����������� �  v�� }����� � �� ��� �� ��} ��� v ���� �}� ����}� �}�� � ��
�  v
� ��} �� ���}�

O(∆3/2+θ/2)
� ��� ~��������} �� ��} ��� ��

O(∆1/2+θ/2) =
o(
√

∆)
v � ������� �}������� �  v	� � �}����� τti := inf{s ≥ ti : (s,X∆

s ) 6∈ D}��} ���
∑

0≤ti<T

1ti<τ∆ |F−(ti+1,X
∆
ti+1

)|2 E
=

∑

0≤ti<T

1ti<τ∆1τti<ti+1 |F−(ti+1,X
∆
ti+1

)|2

E

≤ C∆
∑

0≤ti<T

1ti<τ∆1τti≤ti+1
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E

≤ C∆
∑

0≤ti<T

1ti<τ∆1X∆
ti+1

/∈Dti+1

E
= C∆1τ∆≤T

E
= O(∆),

��}�} ��} ���� ��� ��} ��}������� �� ������}� �������� ��} ����� �� �}�� �
u� �� 	�� ��� �� ��� } �}� }��}�� ��� ���� v
�� ��} ��� } ���� ��} ��� ∑

0≤ti<T 1ti<τ∆ |F−(ti+1,X
∆
ti+1

)||X∆
ti+1

− X∆
ti |

E
=

O(∆)
v

� }~������ �  v� � � �� �}� ��} }�� }~�}� �}���� � �� �}� ���� �� �  v�� �� ������ �� ��}
Z∆

ti ∇u(tti ,X
∆
ti )

��
Z∆

ti+1
∇u(ti+1, π∂Dti+1

(X∆
ti+1

))
� ���~� �� ���} �� � }���} � ��

�� �� }���� ���������� }���� �� ���}�
O(∆)

v
�

  v� v  v � 3�2>?0� �3001�;832 { ��} ���

u∆(D∆) − u(D) = [u∆(D∆) − u(D∆)] + [u(D∆) − u(D)]
�  v
�

uv ��} ���� ~����������� �� �  v
� ��� � }}� ��}������� ������}� � }�~}��
���� ��} ��� ��� D∆ �}� }��� �� ∆

v �� �� }���� ��
c0

√
∆E(1τ<T Zτ (∇u−

∇g)(τ,Xτ ) · ∇F (τ,Xτ )|σ∗∇F (τ,Xτ )|) + o(
√

∆)
v

  v � ������� ��} ���� �}�� �� �}���}� �� ��} �}������ ��� �� � � ���~��}� ������}� � ��� �}�� }~� �� ��} ��� ��� v �� �� �����~����� �� ��}��}�   v  ��
	��
��� ���� Θ(t, x) = −c0∇F (t, x)|σ∗∇F (t, x)| ��� C1,2 � � ��} �}��
���� ���� ~����������� }�����

−c0

√
∆E(1τ<T Zτ (∇u−∇g)(τ,Xτ )·∇F (τ,Xτ )|σ∗∇F (τ,Xτ )|)+o(

√
∆).

���� ����}� ���� ��} �}� ��� ~}���} ��� �� }����
o(
√

∆)
v
�

� l �	s�mts�� o	�r �n� spms	omtm� n�	 p		o��ppn l ���� �}~���� �� �}����}� �� ��} ����� �� ��}��}�   v  v |} ���� ����} ��� } ��}��� ��������� �}����� v
�	��� � lk �� 	om�n	 tm �� tm	�r��tn
 � ,::�w 1 ��

θ

k� { �32:8>10 ;� 3 :;3z .z 82� ;8w 1:

S, S′ �zz 10 43�2>1> 4�
T � 8;y 0 ≤ S′−S ≤ Θ ≤ T

{ �y12 x 30 ?2�
p ≥ 1

6 ;y 101 ?01 :3w 1 �32:;?2;:
c > 0

?2>
C := C(

��
θ

k� 6

Θ)
6 :��y ;y?;

x 30 ?2�
η ≥ 0

6 32 1 y?:
a.s

�

P[ sup
t∈[S,S′]

|X∆
t − X∆

S | ≥ η
∣

∣ FS ] ≤C exp

(

−c
η2

Θ

)

,

E[ sup
t∈[S,S′]

|X∆
t − X∆

S |p
∣

∣ FS ] ≤CΘp/2.

��� � ����� �� ��} ���� ��}������� �} �}�}� �� �����}� � � �� �� 	�� 

� v ��}���� ��}������� }����� ������ � ���� ��} ���� ��} �� ���� ��} ��� ��}�������}� v
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w ?82 8: 3x � 5?::

H2
{ �y1 x 35 53� 82� �32910� 12 �1: y35> 82 z 034?4858;� �

� {
lim∆→0 τ∆ = τ �� {
lim∆→0 X∆

τ∆ = Xτ �� {
lim∆→0 supt≤T |X∆

φ(t) − Xt| = 0
{

��} ����� �� ��} ���� ��� ���}������ �� ��} ~��} �� ���~}���� } ��� ��� ��
��������� �� ��} ~��} �� ~�������~�� ��� ��� ��}} 	�� ���� ��� ���� �}�� �� ��}
�}��}� v ��} ���� ~���}��}�~} �� �������� v

��} ������ ��� �}����� ��} ¡}� ����� �� ����} ��}��}�   v  v
�	��� � l� �� �
��npnts tmq	� 	mq	ms	 p � n�	 p		o��ppn �mq n�	
qt�so	n	 	� tn n t�	� l �1; W

41 ? :;?2>?0> 32 1 >8w 12:832?5 �+ { / � ;
x > 0?2> �32:8>10 ;y 1 >3w ?82 D :=]0, T [×]−∞, x[

{ 
8;y ;y 1 23;?;832 3x ) 1�;832
�6 x 30 ?2�

ε > 0 � 1 y?91

lim
∆−→0

sup
t∈[0,T ],y≥0,x≥∆1/2−ε

∣

∣

∣P0[τ
∆ ≤ t, (Wτ∆ − x) ≤ y

√
∆] − P0[τ ≤ t]H(y)

∣

∣

∣ = 0.

�� vu�

�	��� � l� ,::�w 1 �
A

′

θ �6 ?2> ;y?; ;y 1 >3w ?82 8: 3x �5?::
H2

{ �1;
0 < β <

α < 1/2
{ �30 ?5 5

η > 0
6 ;y 101 1� 8:;:

C := Cη > 0
: {;{ x 30

∆
:w ?5 5 123��y6

∀(s, x) ∈ V∂D(∆α) ∩ D̄ �
s ∈ ∆N
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P[τ∆ ≥ ∆2β |X∆
s = x] ≤ C(∆α−β−η + ∆β),

�y101 τ∆ := inf{ti > s : (ti,X
∆
ti ) 6∈ D} {

�	��� � l� ,::�w 1 �
A

′

θ �6 ?2> ;y?; ;y 1 >3w ?82 8: 3x � 5?::
H2

{ �y101 1� 8:;:
C > 0

6 :��y ;y?; ∀(s, x) ∈ D � 8;y s ∈ ∆N
6 ∀t ≥ s

?2> ∀b ≥ a ≥ 0
6

P[τ∆ ≤ t,∆−1/2F−(τ∆,X∆
τ∆) ∈ [a, b]|X∆

s = x] ≤C
(

(b − a) + ∆1/4)

�y101 τ∆ 8: :y 8x ;1> ?: 82 ;y 1 z 01983�: 51ww ?{
��} ����� �� ��}�} ���}} �}�� �� �� � ���� ��}� �� 
}~���� � v  v

|} � }����� ���� ��
σσ∗ �� ������� �� }������~ � �}�� � � v� �� ����� � ������

��}
∆1/4 v 
}} ��} ����� ��� �}����� v

� vuv / 033x 3x �y 1301w � {� { ������}� ���� ��} ~��} D =]0, T [×D
��}�}

D�� � ���� ���~} v ��} ��}��}� �� ��} ~��} �� �� �� ��}� � ���}~� ~���}��}�~} ��
�}�� � � v� v � �� �� �}�� � ��� ��} ���}� �~�}� } � �} �������~} � �}���� ������
����} ������~} �� ��} � ������� ��}� �� � ����

∆
�� � �� }}� ���}� ����

∆1/2 v
��} ~����~�}�����~ }� �� ��� } ��� � �������� � ���� �� ���� �}���� ������ �� ����� �
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���� ��} �������� ~� }� ~�}��� ��} ��� }��� ~������� ��� �} ��} ��� ��� ��
��} �� ���� }���¡ v � ��� � ��} �� ~��������� � v� v� v �� ��} ������� ��� } �� ����
�}���� ������ �������}}� ���� �� �� � �}�~����� �} ��} ��� }����� ���� ��}
� ������� �� ����� ��} �}�}��� ����� }��� �}}�}� ��� ��} ��}������ v
��� � � ��} �}�}��� ��� }����~} ��� ��� �� ~����

H2
��� ���������� ����� ��}

��}� � � ��� }����~} ~����} �� ~���� ��� � �� ~�� ���� ���~} ������ �� ����� ��
��} ��� ��� �� ��� } ����}�� ��� }�����} v
��� ���������� ~���}��}�~} � �} ����� } ���� ��� �� ���� ��} ��� } �}~����
��� ����

(Dt)t∈[0,T ]
��} ~���}� �� ����

π∂Dt

�� ������ �����}�� �}��}� ��
Dc

t

v �� �����} ��} ~��} �� �}�}���
H2

��� ���� � �� ���������� �� ~���������
���~}���} ��� ���� �� ��} ��} �� ��}��}�   v� �� �}}�}� v
��� ��} ��¡} �� ~������� �} ���� ����� }

k ≡ 0
�
Z ≡ 1

� v ���� �� �� }���
�������~����� ���~} �� ��� �� �}�� � � v  �

Z∆
τ∆

~���}��}� ��
Zτ

��
L1

v
�n	� k� �ps��t��ntpm l ���

α < 1/2
�� }~��}� ���}� �� � �}��}

τ∆α :=
inf{ti ≥ 0 : F (ti,X

∆
ti ) ≤ ∆α} ≤ τ∆ v |} ��� �� �������� ��} ~���}��}�~} ��

Ψ∆(t, x, y) := Ex[1τ∆≤t,F (τ∆,X∆
τ∆

)−≥y
√

∆ϕ(X∆
τ∆)]

��� ��� ���� � �} �}��} ��� ���
0 ≤ s ≤ t ≤ T

�
s ∈ ∆N

� �
(x̃, y) ∈ R

d × R
+

Ψ∆(s, t, x̃, y) :=P[τ∆ ≤ t, F (τ∆,X∆
τ∆)− ≥ y

√
∆|X∆

s = x̃],

∀ε ∈]0, 1/2[, A(t, α, ε) :={τ∆α < τ∆, τ∆α < t, F (τ∆α ,X∆
τ∆α ) ≥ ∆1/2−ε}.

�� ��} �}������� ��
Ψ∆

�
τ∆ ��� �� � } ���}������ �� ��} �����}� }� �� ��� }

inf{ti > s : (ti,X
∆
ti ) 6∈ D} v �� �}�� � � vu�

Px[τ
∆ = τ∆α ≤ t] + Px[τ∆α <

t, F (τ∆α ,X∆
τ∆α ) < ∆1/2−ε] = Opol(∆)

��� ���
ε > 0

� v� v
α < 1/2 − ε

v � }�~} �

Ψ∆(t, x, y) =Ex[1A(t,α,ε),F (τ∆,X∆
τ∆

)−≥y
√

∆ϕ(X∆
τ∆)] + Opol(∆)

=Ex[1A(t,α,ε),F (τ∆,X∆
τ∆

)−≥y
√

∆(ϕ(X∆
τ∆) − ϕ(X∆

τ∆α ))]

+ Ex[1A(t,α,ε)ϕ(X∆
τ∆α )Ψ∆(τ∆α , t,X∆

τ∆α , y)] + Opol(∆).

��} ���� �}�� �� ��} ����� ���� ���} �� ��} ~���}��}� �� � � ����� ��} ~���}���}�~} �� ����������� �� |X∆
τ∆ −X∆

τ∆α |
�� � ������������ �� �}�� � � v � v ����

���}�

�� v �
Ψ∆(t, x, y) = Ex[1A(t,α,ε)ϕ(X∆

τ∆α )Ψ∆(τ∆α , t,X∆
τ∆α , y)] + o(1).

�� �}� ���� �� ����� ��} ~���}��}�~} ��
Ψ∆(.)

v
�n	� � � q t�r� tpm � tn� �op�	m sp	� st	mn� l � }���}

τ∆α := s̃, X∆
τ∆α :=

x̃
v ������������� �� Fs̃

� �������~} ��� ��} ��} ��� }������� ��� ~}�� (Ys)s≥s̃
�
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Ys = F (s̃, x̃)+(∇F ·σ)(s̃, x̃)(Ws−Ws̃)
v ���} ���� �} �� ��� ��¡} ���� �~~����

��} ����� ���� �� ��} ����}� ��� ~}�� v ���� ��} �}�� �� ~��������� ���~}���} � ��
��}��� � �}������ �} �}�� v 
��~}

Y
��� ~������� ~� }� ~�}��� � �} ����� � }���

�}�� � � v� �� �����} ��} ��}������ ��
Y

� v� v� v
R

+∗ v � }��}
τ∆,Y := inf{ti ≥

s̃ : Yti ≤ 0} ��� �}����}

Ψ∆(s̃, t, x̃, y) := ΨC
∆(s̃, t, x̃, y) + R∆(s̃, t, x̃, y),

�� v��
ΨC

∆(s̃, t, x̃, y) := Ps̃,x̃[τ
∆,Y ≤ t, (Yτ∆,Y )− ≥ y

√
∆].

���� �
A

′

θ


� �� ���� �������}}� ����
Y

��� � ��� �}�}�}���} ������~} ���
�}�� � � v� � ��} �}��

sup
(s̃,x̃)∈Aα,ε

|ΨC
∆(s̃, t, x̃, y) − Ps̃,x̃[τ

∆,Y ≤ t](1 − H(y/|(σ∗∇F )(s̃, x̃)|))| −→
∆→0

0,

��}�} Aα,ε :=
(

V∂D(∆α)\V∂D(∆1/2−ε)
) ∩ D v � ��� ��� ���� ��}����� �� �� v��

�� ������ � ��� ��} ��� } ������� ���

Ψ∆(s̃, t, x̃, y) =Ps̃,x̃[τ∆,Y ≤ t](1 − H(y/|(σ∗∇F )(s̃, x̃)|))
+ R∆(s̃, t, x̃, y) + o(1).

�� v� �
�n	� � l �pmnop � p � n�	 o	�n� l |} ��� ���� ����

R∆(s̃, t, x̃, y) = o(1)��}�} ��} �}�� �� ����� ������� ���
(s̃, x̃) ∈ Aα,ε v |���} ���� �

|R∆|(s̃, t, x̃, y) ≤ R1
∆(s̃, t, x̃)

+ Ps̃,x̃[τ
∆ ≤ t, F (τ∆,X∆

τ∆)− ≥ y
√

∆, (Yτ∆,Y )− < y
√

∆, τ∆ = τ∆,Y ]

+ Ps̃,x̃[τ
∆ ≤ t, F (τ∆,X∆

τ∆)− < y
√

∆, (Yτ∆,Y )− ≥ y
√

∆, τ∆ = τ∆,Y ]
�� v��
� ���

R1
∆(s̃, t, x̃) ≤ Ps̃,x̃[τ

∆ ≤ t, τ∆ 6= τ∆,Y ] + Ps̃,x̃[τ∆,Y ≤ t, τ∆ 6= τ∆,Y ] :=
(R11

∆ + R12
∆ )(s̃, t, x̃)

v �}�
y∆

� } � ���}� � ������} ���~���� �� ��} ��� } ��}� � v� v
y∆ →

∆→0
0
�� }~��}� ���}� �� v

�� ��} }�}�� {τ∆ = τ∆,Y , |Yτ∆,Y −F (τ∆,Y ,X∆
τ∆,Y )| ≤ y∆

√
∆} ��} ~���������

F (τ∆,X∆
τ∆)− ≥ y

√
∆

���
(Yτ∆,Y )− < y

√
∆

����� ∆−1/2(Yτ∆,Y )− ∈ [y −
y∆, y)

��}�� v (Yτ∆,Y )− ≥ y
√

∆
���

F (τ∆,X∆
τ∆)− < y

√
∆

����� ∆−1/2(Yτ∆,Y )−

∈ [y, y + y∆)
� v � }�~} �

|R∆(s̃, t, x̃, y)| ≤ (R1
∆ + R2

∆)(s̃, t, x̃)

+ Ps̃,x̃[τ
∆,Y ≤ t,∆−1/2(Yτ∆,Y )− ∈ [y − y∆, y + y∆), τ∆ = τ∆,Y ]

:= (R1
∆ + R2

∆)(s̃, t, x̃) + R3
∆(s̃, t, x̃, y),
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����
R2

∆(s̃, t, x̃) := 2Ps̃,x̃[τ∆,Y ≤ t, τ∆ = τ∆,Y , |Yτ∆,Y − F (τ∆,Y ,X∆
τ∆,Y )| >

y∆

√
∆]

v

�10w
R3

∆(s̃, t, x̃, y)
{ ���� �}��� � v� �����}� �� ��} ���~}�� � ��� ����}� ~��}� ~�}��� � ��} �}��

R3
∆(s̃, t, x̃, y) ≤ C(y∆ + ∆1/4).

�� v��
�10w

R2
∆(s̃, t, x̃)

{ �������~} ���
0 < β < α < 1/2, τ∆β := inf{s ≥ s̃ :

|X∆
s − x̃| ≥ ∆β} ∧ (s̃ + ∆δ), δ := 2β + γ, γ > 0

v ��} ���

|R2
∆(s̃, t, x̃)| ≤ 2

(

Ps̃,x̃[τ∆,Y ≤ t, τ∆ = τ∆,Y , τ∆ < τ∆β ,

|Yτ∆,Y − F (τ∆,Y ,X∆
τ∆,Y )| > y∆

√
∆] + Ps̃,x̃[τ∆ ≥ τ∆β , τ∆ ≤ t]

)

:= (R21
∆ + R22

∆ )(s̃, t, x̃).

�}� �� ���� �}�� � ���
R21

∆ (s̃, t, x̃)
v ��} ���

R21
∆ (s̃, t, x̃) ≤
2∆−1y−2

∆ Es̃,x̃[1τ∆<τ
∆β ,τ∆,Y ≤t,τ∆=τ∆,Y |Yτ∆,Y − F (τ∆,Y ,X∆

τ∆,Y )|2].�� v	�
���} ���� ���~} D �� �� ~����

H2
�
F

��� ��} ��� } �}��������� � v} v �� �� ������� ��
����~���� ~��������� �� ��� } ��� ��� ���� ���~} �}�������}� ��} ������� �� �����~���� ~��������� �� ���~} v ���� � ����� ��� �� �� � �}������������ ���~}���}
����

F ∈ C1,2([0, T ] × R
d)
� ��� �� ������� ��}��� ��� ���

t ≥ s̃
�

F (t,X∆
t ) = F (s̃, x̃) +

∫ t

s̃
∇F (s,X∆

s ) · dX∆
s

+

∫ t

s̃

(

∂sF (s,X∆
s ) +

1

2
tr(HF (s,X∆

s )σσ∗(φ(s),X∆
φ(s)))

)

ds

:= F (s̃, x̃) +

∫ t

s̃
∇F (s,X∆

s ) · σ(φ(s),X∆
φ(s))dWs + R∆

F (s̃, t, x̃)
�� v
�

= Yt + R∆
F (s̃, t, x̃) +

∫ t

s̃

(

σ∗(φ(s),X∆
φ(s))∇F (s,X∆

s ) − σ∗∇F (s̃, x̃)
) · dWs.

���� �� ′

θ


k� ��� ��} ����������� �� D ��} �}���}� |R∆
F |(s̃, t, x̃) ≤ C(t− s̃)

v
���� � ��� � ���}� �������� ��� }

s̃ ≤ U ≤ τ∆β

� ��} ���¡��� ����������� �� v} v
�� �����}�� ��

σ, F
� � �������� ~����������� ��� ��} ��� ��}�������}� ��}��

E[|F (U,X∆
U ) − YU |2] ≤ C(∆2β+δ + ∆δ(1+θ)).
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���� �� v	� ��� ��} �� ��} ~������ � ���

U = τ∆,Y ∧ τ∆β

� ��} �������

R21
∆ (s̃, t, x̃) ≤ Cy−2

∆ ∆−1(∆2β+δ + ∆δ(1+θ)).
�� v
�
�}� �� ��� ~������

R22
∆ (s̃, t, x̃)

v ���� �}���� � vu ��� � v� � ��� ���
η > 0

�}
����}

R22
∆ (s̃, t, x̃) ≤ Ps̃,x̃[τ∆β < s̃ + ∆δ] + Ps̃,x̃[τ

∆ ≥ s̃ + ∆δ]1s̃+∆δ≤t

≤ C
(

exp
(

−c∆2β−δ
)

+ ∆α−η−δ/2 + ∆δ/2).
�� vu��

��¡} ���
α =

1+ θ
2

2(1+θ) < 1/2, η = θ
16(θ+1) , γ = 1

8(1+θ) , y∆ = ∆θ/16 v ��}~¡
���� ���

δ = 2β +γ = 2α−4η
� ��} ���

δ = 1+θ/4
1+θ , β = 7/8+θ/4

2(1+θ) < α, 3η < α
v

���� �
R22

∆ (s̃, t, x̃) = O(∆η)
v �� �������� �

y−2
∆ ∆δ(1+θ)−1 = ∆θ/8, y−2

∆ ∆2β+δ−1 =
O(∆1/(8(1+θ)))

v � }�~} � ���� �� v
� ��� �� vu��

R2
∆(s̃, t, x̃) ≤ C

(

∆1/(8(1+θ)) + ∆θ/8 + ∆θ/(16(θ+1))) ≤ C∆θ/32.
�� vuu�
�10w

R1
∆(s̃, t, x̃)

{ |} ���} �� ��� }� � ���� ��� R11
∆ (s̃, t, x̃)

v ��} �}��
R12

∆ (s̃, t, x̃)~�� � } �����}� �� ��} ��� } ���v ���� ��} ��}����� ~������ ��
R22

∆ (s̃, t, x̃)��� ��� ��} ��}����� ����� }�}�� � ��} �}��

R11
∆ (s̃, t, x̃) = Ps̃,x̃[τ∆ ≤ t, τ∆ 6= τ∆,Y , τ∆ < τ∆β ] + O(∆η)

= Ps̃,x̃[τ∆ ≤ t, τ∆ > τ∆,Y , τ∆ < τ∆β ]

+ Ps̃,x̃[τ
∆ ≤ t, τ∆ < τ∆,Y , τ∆ < τ∆β ] + O(∆η).

���} ���� �

R11
∆ (s̃, t, x̃) ≤ Ps̃,x̃[τ∆,Y ≤ t,∆−1/2(Yτ∆,Y )− ≤ y∆]+

Ps̃,x̃[τ∆ ≤ t, τ∆,Y < τ∆, τ∆ < τ∆β ,∆−1/2|Yτ∆,Y − F (τ∆,Y ,X∆
τ∆,Y )| ≥ y∆]

+ Ps̃,x̃[τ
∆ ≤ t, τ∆,Y > τ∆, τ∆ < τ∆β ,∆−1/2|Yτ∆ − F (τ∆,X∆

τ∆)| ≥ y∆]

+ Ps̃,x̃[τ
∆ ≤ t,∆−1/2F (τ∆,X∆

τ∆)− ≤ y∆] + C∆η,

��� ��} ��}����� ���~���� (y∆)∆>0
v 
��~} �} ~���� ������ ��} ��� } ��� } ��

� ���� ���
R12

∆ (s̃, t, x̃)
� ���� �}�� � � v� ��� ������ ��� ��} ~����������� ����

���} �� v
� �} �}���} ��� ��} ��}����� �}� �� ����� }�}��

R1
∆(s̃, t, x̃) ≤ C(y−2

∆ ∆−1(∆2β+δ + ∆δ(1+θ)) + ∆η + y∆ + ∆1/4) ≤ C∆θ/32.

�� vu �
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���� �� vu � � �� vuu� � �� v�� �} ������ ������
R∆(s̃, t, x̃, y) = O(∆θ/32) = o(1)

v
��} �}�� �� ������� � v� v� v

(s̃, x̃, y) ∈ Aα,ε × R
+ v

�n	� � l � tm�� �n	� l � ��� ��} ��}����� �}����� �� �� v� � v |} �}���} ���� �� v �

Ψ∆(t, x, y) = Ex[1A(t,α,ε)ϕ(X∆
τ∆α )

× Pτ∆α ,X∆
τ∆α

[τ∆,Y ≤ t](1 − H(y/|σ∗∇F (τ∆α ,X∆
τ∆α )|))] + o(1).

��} ��}����� ~������� �� R1
∆(s̃, t, x̃)

�
R22

∆ (s̃, t, x̃)
���}

Ψ∆(t, x, y) = Ex[1τ∆α<tPτ∆α ,X∆
τ∆α

[τ∆ ≤ t, τ∆β > τ∆]

ϕ(X∆
τ∆α )(1 − H(y/|σ∗∇F (τ∆α ,X∆

τ∆α )|))] + o(1).

���}� �� ′

θ � � �� ~��������� ����� }��� ��� �}�� � � vu �} }�}������� �}�

Ψ∆(t, x, y) = Ex[1τ∆≤tϕ(X∆
τ∆)(1 − H(y/|σ∗∇F (τ∆,X∆

τ∆)|))] + o(1).

��� � �}�� � � v  ���}�

Ψ∆(t, x, y) →
∆→0

Ex[1τ≤tϕ(Xτ )(1 − H(y/|σ∗∇F (τ,Xτ )|))].

�

� v  v / 033x 3x �1ww ?: � {�6 � {� ?2> � {� {

/ 033x 3x �1ww ? � {� { |} ����� ������ �� ��} �}� }��}�~} �� ��} }� �� ��� }�
� ��� �}�� }~� ��

x
� �� �}�����

τ∆ := inf{s ∈ ∆N∗ : Ws ≥ x} := τ∆
x

���
����������� ���

τ = τx
v

��� ����� �}��}� �� ��} ������ ��� ~���}��}�~} ��}} }������� �u
� �� 
�}������ 	
�}	
�� � �� �} �}� ���� ���
y, z ≥ 0

�

D(z, y) = P0[Wτ∆
z
− z ≤ y

√
∆] − H(y),

��}�
lim

z∆−1/2→+∞
|D(z, y)| = 0.

� ���� ��} � �������~��� ��� ��} ������� ~��������� ��
H(y)

� � �� � �� ��}��}�
��}��� ���� ��} �� ��} ��� �� �� �~������ ������� � ��� �}�� }~� ��

y ≥ 0
v ��

������ �

�� vu��
sup

y≥0,z∈[∆1/2−ε/3,∞)

|D(z, y)| →
∆→0

0.
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�� ��� ���� � �������~��� ����� }��� �
�� vu� �

sup
x≥0,t≥0

|P0(τ
∆
x > t) − P0(τx > t)| →

∆→0
0.

|} ~�� ��� ��� ~}}� �� ��} ����� v � ���� � ���} ���� �� x/
√

t ≥ ∆−ε/3 → +∞��
∆ → 0

�
P0(τ

∆
x > t)

���
P0(τx > t)

��} � ���
Opol(∆)

v ���� � ��} ���}�}�~}
�� �}�� � � v� ~���}��}� �� � ��

∆ → 0
v


�����} ��� ����
x/

√
t ≤ ∆−ε/3 � �}�~} √

t ≥ x∆ε/3 ≥ ∆1/2−2ε/3 � ���
����} ���

t ∈ ∆N∗

P := P0[τ
∆
x > t,Wτ∆

x
− x ≤ y

√
∆]

=

∫ +∞

0
dzqx,∆

t (0, x − z)P0[Wτ∆
z
− z ≤ y

√
∆]

��}�}
qx,∆
t

�}���}� ��} ���������� �}����� �� ��} ���~�}�}�� ¡���}� ��������� � ����� v �������~} ��} ���������
R

+ = {z ∈ [0,∆1/2−ε/3)} ∪ {z ∈
[∆1/2−ε/3,+∞)} v ��}� �

P = R +

∫ +∞

∆1/2−ε/3
qx,∆
t (0, x − z)D(z, y)dz + P0[τ

∆
x > t]H(y)

��}�} |R| ≤ 2P0[Wt ∈ [x−∆1/2−ε/3, x]] ≤ 2√
2πt

∆1/2−ε/3 ≤ 2√
2π

∆ε/3 v � �������
��¡��� ��������} �� ��} }���� ��}� �� vu�� ��� �� vu� � �}����� ~����}�}� ���
����� v

�/ 033x 3x �1ww? � {� { |} ��¡}
s = 0

��� ���������� ������~���v �������~}
τ∆β := inf{t ≥ 0 : (t,X∆

t ) 6∈ V∂D(∆β)} ��� ���
γ > 0

����} ���� �}�� � � vu
��� ��} �������� �� �� v
� ��� �� ��} ��� } �}������������ ��� ~}���} ~��~}�����
F
�

Px[τ
∆ ≥ ∆2β] =Px[ inf

i∈[[0,∆2β−1]]
F (0, x) +

∫ ti

0
∇F (s,X∆

s ) · σ(φ(s),X∆
φ(s))dWs

+ R∆
F (0, ti, x) ≥ 0, τ∆β ≥ ∆2β+γ ] + Opol(∆) := Q,

��}�} ���}� ��} ����������� �� ��} �}�� � � |R∆
F (0, ti, x)| ≤ Cti

v ��� � ���}�
r > 0

� ~�����}� ��} }�}�� Ar = {∃s ≤ T : |X∆
s − X∆

φ(s)| ≥ r} ��}�} ��}
��~�}� }��� ��

X∆ � }��}}� ��� ~���} ��� }� ��} ����} � �� �}�� � � vu� �� ���
�� }�� ��}������� �� ��� �����������v � }�~} � �� �} �}�

Mu :=

∫ u

0
∇F (s,X∆

s ) · σ(φ(s),X∆
φ(s))dWs := B<M>u, t̃i = 〈M〉ti ,

B
�� � �������� �������� � ����� ��� � � ����� �� }�����}� ����������� ���~}�

�� ��� �� ��} � ����� � ��������
~����� ��}��}� � ~� v ��}��}� � vuv	 �� 	�� 

� v
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�� �������� � ��} �� ��} ��� } ~����} �� ����~��� ��~�}����� �� ��} �}� Ac

r

���
〈M〉t − 〈M〉s ≥ (t − s)a0/2

�
t ≥ s

� �� �� ��¡���
r
�� ��� }����� � � }~���}�� ′

α


� � �� �� ���~} v �� �}����� ������ � ����

Q ≤Px[ inf
i∈[[0,∆2β+γ−1]]

Mti + Cti ≥ −∆α, τ∆β ≥ ∆2β+γ ] + Opol(∆)

≤Px[ inf
i∈[[0,∆2β+γ−1]]

Bt̃i
+ 2Ca−1

0 t̃i ≥ −∆α, τ∆β ≥ ∆2β+γ ,Ac
r] + Opol(∆)

≤Px[ inf
i∈[[0,∆2β+γ−1]]

Bt̃i
+ 2Ca−1

0 t̃i ≥ −∆α, τ∆β ≥ ∆2β+γ ,

inf
s∈[0,〈M〉

∆2β+γ ]
Bs + 2Ca−1

0 s ≤ −∆α−ζ ,Ac
r] + Opol(∆)

+ Px[τ∆β ≥ ∆2β+γ , inf
s∈[0,〈M〉

∆2β+γ ]
Bs + 2Ca−1

0 s ≥ −∆α−ζ ,Ac
r],

���
ζ > 0

v ���� � ���� �}�� � � vu ��� �������� ~�������

Q ≤ Px[∃i ∈ [[0,∆2β+γ−1]], sup
s∈[t̃i,t̃i+1]

|Bs − Bt̃i
+ 2Ca−1

0 (s − t̃i)| ≥ ∆α−ζ − ∆α,

τ∆β ≥ ∆2β+γ ] + Px[ inf
s∈[0,a0∆2β+γ/2]

Bs ≥ −∆α−ζ − C∆2β+γ ] + Opol(∆)

≤ Opol(∆) + C(∆α−ζ−β−γ/2 + ∆β+γ/2).

�����} ���
γ, ζ

� v� v
(ζ + γ

2 ) = η > 0
v ��} ����� �� ~����}�} v

�/ 033x 3x �1ww ? � {� { ��¡��� ����
s = 0

��� ���������� ~���}��}�~} � �}
����}

P :=Px[τ∆ ≤ t,∆−1/2F−(τ∆,X∆
τ∆) ∈ [a, b]] ≤ Opol(∆)

+

bt/∆c
∑

i=1

Ex[1τ∆>ti−1
,1(ti−1,X∆

ti−1
)∈V∂D(r0)EFti−1

[1∆−1/2F (ti,X∆
ti

)−∈[a,b]]]
�� vu��

����� �}�� � � vu ��� ��} ���� ��}�����v
� ������ ������� ���}� �

F (ti,X
∆
ti ) = F (ti−1,X

∆
ti−1

)+Σti−1(Wti −Wti−1)+

R∆
ti−1,ti := Nti−1+R∆

ti−1,ti

��}�}
Σti−1 = σ∗∇F (ti−1,X

∆
ti−1

), EFti−1
[|R∆

ti−1,ti |2]
≤ C∆2 v ������������� �� Fti−1

� Nti−1

��� � �������� ������������
N (F (ti−1,X

∆
ti−1

), ‖Σti−1‖2∆).� ��� � �� ��} }�}��
(ti−1,X

∆
ti−1

) ∈ V∂D(r0), ‖Σti−1‖2∆ ≥ a0∆
v 
}�

Qi−1 :=
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PFti−1
[F (ti,X

∆
ti )− ∈ [a∆1/2, b∆1/2]]

v |} ������

Qi−1 = PFti−1
[(Nti−1 + R∆

ti−1,ti)
− ∈ [a∆1/2, b∆1/2]]

≤ PFti−1
[Nti−1 ∈ [−b∆1/2 − ∆3/4,−a∆1/2 + ∆3/4]]

+ PFti−1
[|R∆

ti−1,ti | ≥ ∆3/4,X∆
ti 6∈ Dti ]

≤ PFti−1
[Nti−1 ∈ [−∆1/2(b + ∆1/4),−∆1/2(a − ∆1/4)]]

+ C∆1/4 exp

(

−c
d(X∆

ti−1
, ∂Dti−1)

2

∆

)

����� ��} ���~���
~����� ��}������� ��� �}�� � � vu ��� ��} ���� ��}�������v
� }�~} � �} �}���} ���� �� vu��

P ≤
bt/∆c
∑

i=1

Ex[1τ∆>ti−1,(ti−1,X∆
ti−1

)∈V∂D(r0)

(

C∆1/4 exp

(

−c
d(X∆

ti−1
, ∂Dti−1)

2

∆

)

+

∫ −∆1/2(a−∆1/4)

−∆1/2(b+∆1/4)
exp

(

−
(y − F (ti−1,X

∆
ti−1

))2

2‖Σti−1‖2∆

)

dy

(2π∆)1/2‖Σti−1‖

)

]

+ Opol(∆) ≤ C(b − a + ∆1/4)∆−1
∫ t

0
dsEx[1τ∆>φ(s),(φ(s),X∆

φ(s)
)∈V∂D(r0)

× exp

(

−c
d(X∆

φ(s), ∂Dφ(s))
2

∆

)

] + Opol(∆).

������ ��� ��} ����� �� �}�� � u� �� 	�� ��� � � ����� ���}� �� ��} �����~�����
�� ��} � ~~������� ��� } ������� ��� ��} ������~} ���~}�� F (s,X∆

s )
� ��} ~��

���� ���� ��} �� ��} ���}���� �� � ����}� ��
C∆

v ���� ~����}�}� ��} ����� v
�


 	��o� � l� � 82?5 5�6 � 1 w 12;832 ;y?; 8x
σσ∗ 8: �28x 30w 5� 15 58z ;8�6 ;y 1 01:;

R∆
ti−1,ti

�?2 41 ?938>1> ?2> ;y 1 01:� 5; �?2 41 :;?;1> � 8;y3� ; ;y 1 �32;084� ;832

∆1/4 { *2>11>6 � 1 �?2 >801�;5� 1�z 538; ;y?; ;y 1 ' � 510 :�y1w 1 y?: �32>8;832?5 5� ?
232 >1� 1210?;1 -?�::8?2 >8:;084� ;832 ?2> �:�?5 �y?2� 1: 3x �y?0; ?::3�8?;1>
;3 ? z?0?w 1;08�?;832 3x ;y 1 43�2>?0� �:11 1{� { �-34���
 � 89 1 ;y 1 1�z 1�;1>
01:� 5;{

� l ��n	m� tpm np n�	 �n�ntpm�o
 s��	 l
� vuv �0?w 1� 30� { �� ���� �}~���� �} ����� } ���� ��} ~�}� ~�}��� �� �uvu�

��} ��� } ���}� }��}�� ��� ���� ��} � ������� b, σ
��} ������� �� ����~����
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~��������� � � v} v

(Xt)t≥0
�� ��} �����} ������ �������� ��

Xt = x +

∫ t

0
b(Xs)ds +

∫ t

0
σ(Xs)dWs, t ≥ 0, x ∈ R

d.

��� � � ����}� ��� ���
D ⊂ R

d � ��� ���}� ���~�����
f, g, k : D̄ → R

� �} ��}
���}�}��}� �� }���� �����

u(x) := Ex[g(Xτ )Zτ +

∫ τ

0
f(Xs)Zsds], Zs = exp(−

∫ s

0
k(Xr)dr),

�� vu�

��}�}
τ := inf{t ≥ 0 : Xt 6∈ D} v�������� ��}}�� ��} ��}����� ��������� ��� � � ��}� ���~}� �� ��} }������~

�}����� � �������~} ���
θ ∈]0, 1[

�
��

θ � kl )w 33;y21:: 3x ;y 1 �31� �812 ;: v
b, σ ∈ H1+θ

v
� l 728x 30w 15 58z ;8�8;� v ��� ��� }

a0 > 0, ∀(x, ξ) ∈ R
d×R

d, ξ∗σσ∗(x)ξ
≥ a0|ξ|2

v��
θ � )w 33;y21:: 3x ;y 1 >3w ?82 v ��} � ����}� ��� ���

D
�� �� ~����

H2
v��

θ � � ;y 10 �31� �812 ;: v ��} � ������� ����
g ∈ H1+θ

�
f, k ∈ H1+θ

���
k ≤ 0

v
���} ���� ���}� ��

θ � ��� ���~}
D

�� � ����}� � �}�� � � vu �����}� � � � ��
	��}
� � ��}��� supx∈D̄ Ex[τ ] < ∞ v ���� � �� vu� �� �}�� �}��}� ���}� ��� ~���}��
����������� v

���� ��}��}� � vu� � ��} ���� ���}� �� �����}� � �� 	�� 

� ��� ��}��}�
  vu �����}� � � �� ��}����� 	��}
�� � ��} �}��� ���
 �~ �}��}�}������� �� ���
}������~ �}����� ����}�
�op�p� tn tpm � lk �� ��t�nts �	
m��m
��s �� �po�r �� �mq 	�nt��n	��,::�w 1 ��

θ �6 ��
θ �6 ��

θ � ?01 82 x 30�1{ �y126 ;y 101 8: ? �28�� 1 :35� ;832 3x
�5?::

H1+θ ∩ C2(D)
;3

{

Lu − ku + f = 0, in D,
u|∂D = g

�� v �

?2> 8; 8: � 8912 4� �� vu� {
�� ��} ������ ��� �} �}���} ��

F (x)
��} ����}� ������� ������~} �� ��} � ��������

∂D
v ���}� ��

θ � � D
������}� ��} }��}���� ��� ���}���� ������� ���}�}

~�������� � ��� ������
r0 > 0

���
F ∈ H2(V∂D(r0))

��}�}
V∂D(r0) := {x ∈

R
d : d(x, ∂D) ≤ r0}

v � ��� �
F

~�� � } }��}��}� �� �
H2

���~���� ��}�}�����
��} ���� v ��� � ��} �}����� �� ��} ������~} ���~���� � �} �}�}� �� ��� }����
u� v� �� 	�� 

� v



�� b c ��¿b¾ e�j ½ c �b�����
� v  v �335: ?2> 01:� 5;: { �}��� � �} ¡}}� ��} ��}����� ��������� ~��~}�����

��} ���}� �~�}� } v |} ���� ��} ��} ���� ��
C

��� ����}�����} ~�������� ����
� �� �}� }�� ��

D, b, σ, g, f, k
��� ��� ��

∆
��

x
v |} �}�}��} ��} ��������

c��� ~�������� ���� ���}� }��}�� �� D, g, f, k
v �}� �� ��� ����} ��} � ��� �}�����

�� 
}~����   �� ��� ~���}�� ���� }���¡ v
�op�p� tn tpm � l� ��t��nm	�� p � n�	 p		o��ppn � ,::�w 1 �

Aθ

��6 ?2> ;y?;

D
8: 3x �5?::

H2
{ �y126 x 30 :3w 1

c > 0
6

sup
∆>0

Ex[exp(c[∆−1/2F−(X∆
τ∆)]2)] < +∞.

���� ��} ����� �� ��}��}�   v  ��� ��}��}� � v  �� ��� }� ��� � ���} 	�� ����} �}���} �
��	po	� � l� �
ptmn �t� tn ��� � ���pst�n	q np n�	 p		o��ppn � ,::�w1
�
Aθ �6 ?2> ;y?;

D
8: 3x �5?::

H2
{ �1;

ϕ
41 ? �32;82�3�: x �2�;832 � 8;y �3wz?�;

:�zz30;{ 
8;y ;y 1 23;?;832 3x �y 1301w � {�6 x 30 ?5 5
x ∈ D, y ≥ 0

6

Ex[Z∆
τ∆ϕ(X∆

τ∆)1F−(X∆
τ∆)≥y

√
∆] −→

∆→0
Ex
[

Zτϕ(Xτ )
(

1 − H(y/|σ∗∇F (Xτ )|)
)]

.

� v� v ' 0030 1�z?2:832 ?2> 43�2>?0� �3001�;832 { ��� ���������� ~���}��}�~}
�������~} ���

x ∈ D
�

u(D) = Ex(g(Xτ )Zτ +

∫ τ

0
Zsf(Xs)ds),

u∆(D) = Ex(g(X∆
τ∆)Z∆

τ∆ +

∫ τ∆

0
Z∆

φ(s)f(X∆
φ(s))ds).

��} �}~��� �������� �� �}�� �}��}� �~~������ �� ��}��}� � v  �� ��� }� ���
� ���} 	�� ��� ���� ����}�

∀p ≥ 1, lim sup
∆→0

sup
x∈D̄

Ex[(τ∆)p] < ∞.
�� v��

��	po	� � l� ��to�n poq	o 	���m� tpm � 72>10 ��
θ �6 ��

θ �6 ��
θ �6 x 30 ∆:w ?5 5 123��y ?2> � 8;y ;y 1 23;?;832 3x �y1301w � {�

Err(∆, g, f, k, x) = u∆(D) − u(D)

= c0

√
∆Ex(Zτ (∇u −∇g)(Xτ ) · ∇F (Xτ )|σ∗∇F (Xτ )|) + o(

√
∆).

� }��} ���
D∆ = {x ∈ D : d(x, ∂D) > c0

√
∆|σ∗∇F (x)|} v �������~} τ̂∆ =

inf{ti ≥ 0 : X∆
ti ∈ D∆} v 
}�

u∆(D∆) = Ex[g(X∆
τ̂∆)Z∆

τ̂∆ +

∫ τ̂∆

0
Z∆

φ(s)f(X∆
φ(s))ds].

��} ��� �



��b� ½d��¾½ �H ½¾�¯¯bj j �HH� ½��� ½ ��
��	po	� � l� ��prmq�o
 spoo	sntpm � 72>10 ��

θ �6 ��
θ �6 ��

θ � ?2> ?:.
:�w82� ?>>8;832?5 5� ∇F (x)|σ∗∇F (x)| 8: 3x �5?:: C2 6 ;y 12 x 30 ∆

:w ?5 5 123��y
321 y?:

u∆(D∆) − u(D) = o(
√

∆).

� v� v / 033x : { ���} ~��}����� ���� ��� ��} ~�������� ��� }����� �� ��} }����
�������� ��� ��} ����� ���~ ~��} ���} �� � ��� ���}�� ������ � v� v� ��} ��}�
���� ��� }

T
v �������� �� v�� ����� � �� ~������ ������� �� ��} ���}��������� ��

��}�} ~�������� �� ��� ~���}�� ���� }���¡ v ���� � ���~} ��} ����� }��� �}� ���
��} ��� } � �} ���� ���} � }��� �¡}�~�}� �� ��} ������ v

/ 033x 3x / 03z3:8;832 � {� { �� �� ��� ~�}�� �� ����} ���� ��}�} }� ��� ~��������
c̃ > 0

���
C

� v� v ∀A ≥ 0, sup∆>0 Px[F
−(X∆

τ∆) ≥ A∆1/2] ≤ C exp(−c̃A2)
v

��}� ��� ~���~} ��
c < c̃

�� ����� v ���
x ∈ D

� �} ����}

P := Px[F−(X∆
τ∆) ≥ A∆1/2]

=
∑

i∈N∗

E[1τ∆>ti−1
1τ∆

ti−1
<ti

P[F−(X∆
ti ) ≥ A∆1/2|Fτ∆

ti−1

]]

��}�}
τ∆
ti−1

:= inf{s ≥ ti−1 : X∆
s 6∈ D} v ���� �}��� � vu� �} �}�

P ≤ C exp(−c̃A2)
∑

i∈N∗

P[τ∆ > ti−1, τ
∆
ti−1

< ti].

�}�� � u� ���� 	�� ��� �}� ���� ����� ���}� ��� ~���}�� ����������� ���
��}���

P ≤ C exp(−c̃A2)
∑

i∈N∗ E[1τ∆>ti−1
(P[X∆

ti 6∈ D] + Opol(∆))]
v ����

�� v�� �
Px[τ

∆ < ∞] = 1
v 
��~} ∑

i∈N∗ Px[τ∆ > ti−1] = ∆−1
Ex[τ∆]

� �} ����
�}���} ���� �� v�� ��� ��} ��}����� ��� }� � ���� ��

P
����

P ≤ C exp(−c̃A2)���~� ~��~���}� ��} ����� v
�/ 033x 3x �y1301w � {� { 
�� ������ �� ��} ����� �� ��}��}�   v� �} ������}

���� ����
u ∈ H3+θ

v ��} �}�}��� ~��} ~�� � } �}��~}� �� �� ��} ����� ���~
~��} ����� �������} 
~����}� }���� ��}� � ���}� �� ��} ���� ���}� �� �����}� ��� 	�� 

� � �}} ���� ��� ��� }���� v�� ���� �������}� �}����� � �} ������

Err(∆, g, f, k, x)
E
= − Z∆

τ∆∇g(π∂D(X∆
τ∆))∇F (X∆

τ∆)F−(X∆
τ∆)+

(

∑

i∈N

1ti<τ∆

[

∆ × Z∆
ti (Lu − ku + f)(X∆

ti )
�� v� �

+ Z∆
ti ∇u(X∆

ti ) · ∇F (X∆
ti+1

)F−(X∆
ti+1

)
�� v��

+ O(|F−(X∆
ti+1

)||X∆
ti+1

− X∆
ti |) + O(|F−(X∆

ti+1
)|2)

]�� v��

+ O(∆3/2+θ/2) + O(|Wti+1 − Wti |3+θ)
)

1τr0>τ∆ .
�� v	�



�� b c ��¿b¾ e�j ½ c �b�����
��} ~����������� �� v� � ~��~}�� �� ��� �� ��} ��� �� v � v ��} ������ ~������������ ���� ~���}� �� ��} �}� ����}�� �� v	� ~�� � } � ����}� ��

C∆3/2+θ/2(∆−1
Ex[τ∆])

v
���� �� v�� � �� �� �������� �� �

O(∆1/2+θ/2) = o(
√

∆)
v ��� �� v�� � ���}

(

∑

i∈N

1ti<τ∆(|F−(X∆
ti+1

)||X∆
ti+1

− X∆
ti |) + |F−(X∆

ti+1
)|2)

E

≤ C∆
∑

i∈N

1ti<τ∆1τ∆
ti−1

≤ti+1

E

≤ C∆
∑

i∈N

1ti<τ∆1X∆
ti+1

6∈D
E
= C∆1τ∆<∞

��}�} �} ��}� �}�� � u� ���� 	�� ��� ��� ��} ���� ��}�������v ���� ��}
������ ~����������� �� ���� �}�� �� �

O(∆)
v |} }�}������� �}���} ��} �}����

�� �� 
}~����   v
���}��}� � v� ~�� � } ����}� �� ��}��}�   v� � ����� � �}��������� �}����

��������� �� ��}��}�   v  �� 	��
��� ��� }������~ �����}� � � �}} } v� v 
�� ��
	
�� 
�� v

� l �pms �r� tpm l �� ��} ����� ���~ �}����� � ��} }���� }�������� � ��}��}�
  v� � ��� ��} ���� ~���}� ~���}~���� � ��}��}�   v� � ���} � }}� ������}� ����}� ������� ����������� ���� � ��� ��}�� ���� � �}} ��

θ � v � ������� ��}������ ~��~}��� ��} � ����� �} }��}����� �� ��}�} �}����� �� � ��� �}������~ ���� }����¡ ��� � ����� }� �������� � ��� ��� } �}� }��}�� ~� }� ~�}��� v ��} � ��� ����
�}}�}� �� ��} �� �����}�� �� ��} ��� �� ��} �������� v ��� ~� }� ~�}��� ���� ��}
C1 �� ��� } � ���� � ���� �� ���~���}� �� �������� ��� � }����}� 	�� � � ��� �
~�������~�� ��� ��� v �� �� �� }��}����� �� ��}�� �}����� �� ��� } �}� }��}��
��� ���� � ��� � ��� �}����� ������ �� ��� } �}��} �}� ��� ����� v ��� ��} }������~
~��} � ��} }��}����� �� ��}��}� � � v� � � v� �� � ����}������~ ���� }���¡ �� �� }� v
���}}� � �} �������� }������}� ��� } ~������� �� ��} ���}� �~�}� } �� ����}
��� } � ���� ��} ��� ���� �}��� }��� �� }�������� ��}� ��} ~� }� ~�}��� �}�}��}���} v ���� � ��� ~��~}�� �����}� �}�}��~� v ��� ��� �}����� �� ���� ���� }���¡ �
�}} 	����
� ��� ������~} v�� ~��~���} � �} ���} ���� ��} � ������� ~���}~���� ���~}���} ~���� � } ��
�}��� ���� ���� }��}��}� �� �}�}��� ��� ��� ~}��}� �� ��} ����

dXt = btdt +
σtdWt

v �� ���� ~��} � ��} �� ���}� ��� ��� ����� � } �}��}�
ω

��
ω

�}���~���
σ∗(t, x)∇F (t, x)

��
σ∗

t∇F (t,Xt)
v ��}� �� ��� ~���}�� ����� �}��}� �� � ��¡������ ���� }���}� � �} ~��� }~���} ���� ��} ~���}~���� ������ ��~} ����� ���}

�
o(
√

∆)
���}� }��}���� �� ��} � ��¡����� ����~���} v |} � }����� ���� �� ��

���}��� ¡���� 	�� ��� ���� ��} }���� ����~���}� �� ��} ���~�}�} �������� ��
�� }��� ��� } ��� � �}�}��� ��� ��� ~}�� ��}��� �� }���� �� ���}� √

∆
v
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��� ���
�� ���� �}~���� � �} �}���� ��� ��} ����� �� 
}~����   ��� �� � } � ����}�

���}� ��} ����������� �� ��}��}�   v� � � v} v ���
g ∈ H1+θ

��� � ������ ~�� ������ ����� ~�������� �� ����
u ∈ H1+θ

v

� lkl �o	�t� tm�o
 mpn�ntpm �mq spmnop �� l �������~} ��} ����� ���~
������~}

pd
� ���

(s, x), (t, y) ∈ D̄, pd((s, x), (t, y)) = max(|s− t|1/2, |x− y|) v|} ���� �}���} ��� � ~���}� �}� A ∈ D̄ ���
(s, x) ∈ D, pd((s, x),A)

��}
����� ���~ ������~} ��

(s, x)
�� A v

���}� ��� ~���}�� ����������� � ∃C > 0, ∀(s, x) ∈ D �

|Hu(s, x)| + sup
α, |α|=3

|∂α
x u(s, x)| ≤ Cpd((s, x),PD ∩ {v ≥ s})−2,

sup
α,|α|=3, (t,y)∈D, (t,y)6=(s,x)

|∂α
x u(s, x) − ∂α

x u(t, y)|
pd((s, x), (t, y))θ

≤ C(pd((s, x),PD ∩ {v ≥ s}) ∧ pd((t, y),PD ∩ {v ≥ t})−2−θ,

sup
(t,x)∈D, t6=s

|∂tu(s, x) − ∂tu(t, x)|
|t − s|(1+θ)/2

≤ C(pd((s, x),PD ∩ {v ≥ s}) ∧ pd((t, x),PD ∩ {v ≥ t})−2−θ.
�� vu�
��}�} ��}�������}� ��} ������}� � ��� ��} ���}���� 
~����}� }���� ��}� ��� ��}
��� � ������}� �� ��} ������� �}�������}� (∂xiu)i∈[[1,d]]

� �}} ��}��}� � v
 ��
	��}
�� v|} ���� ����} �� ��������� ���� ������� ��� ��} }���� �������� � ��� � ����� ��
}�������} ~������� �� �� �� vu� ��� ��} �}�������}� v � �� }��� ���}� ��� ~���}��
�}�������� ����������� � �� ���}� �� � }����� � ������ }�������� �} ���} ��
���¡ � ��� ���}���� � ����� � v� v ��} ����} �}�� }�� � }��}}� ��}�} � ����� � }�����
�� ��} ��� } ���~} ��� ��� � � ��� ��} ������~} �� ��} � ������� ������� �� ���}�
� ����}� ����� ��} �}�� }�� v ��} ���� ������� ����}� ���� ���� �� ��} ~��} ��
��} � ����� ��} ���� }����� � ���� ��} ���} �� D v
� op�p� tn tpm � lk , ::�w1 D ∈ H2

?2> ;?�1
ε ∈]0, 1[

{ �30 ?5 5
(t, x) ∈ D̄ ∩

V∂D(r0/2) \V∂D (2∆1/2(1−ε))
6 �y101 r0

8: >1� 21> 82 ) 1�;832 � {� {�6
t ≤ T −∆?2> ∀y ∈ B(x,∆1/2(1−ε)) ∩ D̄t+∆

6 32 1 y?:

Iε(t, x, y,∆) := [(t, x), (t + ∆, y)] ∈ D̄,

∀(s, z) ∈ Iε(t, x, y,∆), F (s, z) ≥ 1

4
F (t, x)

x 30
∆

:w ?5 5 123��y {
��} ����� �� � ���� ��}� �� ��} }�� �� ��} 
}~���� v
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e∆
2

E
=
(

∑

0≤ti<T−4∆1−ε

1ti<τ∆

[

u(ti+1, πD̄ti+1
(X∆

ti+1
))Z∆

ti+1
− u(ti,X

∆
ti )Z∆

ti

+Z∆
ti f(ti,X

∆
ti )∆

]

(1(ti,X∆
ti

)6∈V∂D(2∆1/2(1−ε)) + 1(ti,X∆
ti

)∈V∂D(2∆1/2(1−ε)))
)

1τr0>τ∆

+ e∆
23 := e∆

21 + e∆
22 + e∆

23,

��}�} E
=

�}���}� �� }������� ��� ��} }�� }~������ �� �� �
Opol(∆)

v ��} �}�� �
e∆
21, e

∆
22, e

∆
23

��} �}�� }~���}�� ���� ~���}� �� ��} }�}��� ��� ���~� ��}
(ti,X

∆
ti )i��} ��� ���� ��} ����� ���~ � ������� �� D � ~���} �� ��� ���} ��� ~���} �� ���

��� v
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e∆
21

{ ���� � ��� ������� � vu� �}�� � � vu ��� �� vu� � ��} � ������ ��}
θ�� � ��}� ~������� ��� ��} ����� ������� �}�������}� ��} � ����}� ��

C
×F (ti,X

∆
ti )−2−θ � �� �}�� ��}

(1 + θ)/2��� ��}� ~������� ��� ��} ��� } �}��������} v � }�~} � �������� ��} ��}����� �������� �� 
}~����   � �} �}�

|e∆
21|

E

≤ C
∑

0≤ti<T

1ti<τ∆

(

r−2−θ
0 (|Wti+1 − Wti |3+θ + ∆(3+θ)/2)

+ 12∆1/2(1−ε)≤F (ti,X∆
ti

)≤r0/2F (ti,X
∆
ti )−2−θ(|Wti+1 − Wti |3+θ + ∆(3+θ)/2)

)

.

��} �}�� � ���������
r−2−θ
0

�}����� ���} �
O(∆1/2+θ/2) = o(∆1/2)

v ��� ��}
���}� �}�� � � ��} ¡}� ���� �� ��} � ~~������� ��� }� ������� ����~���}� �� ��� }
����� ~������� ���� 	�� ��� ��� ��} }�� }~������ �� ��} �� ~�� ��� } (

Ly
s(F (.,X∆

. ))
)

s�� �}�}�
y
�� ��} ~��������� �}� ��� ��������} ������~} ���~}�� (F (s,X∆

s ))s
v

���}}� � �� }��� ���������� �� ��} ����� �� �}�� � u	 	�� ��� �� ��� ��� }
�}� }��}�� ��� ��� ���� }���¡ ���}�

�� v �
E[Ly

T∧τ∆(F (.,X∆
. ))] ≤ C(|y| +

√
∆).

���� � ��} ���

|e∆
21|

E

≤ C∆1/2+θ/2
(
∫ T∧τ∆

0
1F (φ(t),X∆

φ(t)
)∈[2∆1/2(1−ε),r0/2]F (φ(t),X∆

φ(t))
−2−θdt + 1

)

E

≤ C∆1/2+θ/2
(
∫ T∧τ∆

0
1F (t,X∆

t )∈[∆1/2(1−ε) ,3r0/4]F (t,X∆
t )−2−θdt + 1

)

E

≤ C∆1/2+θ/2
(
∫ 3r0/4

∆1/2(1−ε)
y−2−θLy

T∧τ∆(F (.,X∆
. ))dy + 1

)

,
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F (t,X∆
t )

��� ��} ���� ��} ��}~��� ����
σ

�� ������� �� }������~� v
������� ����� �� v � � ��} �}��

|e∆
21| ≤ C∆1/2+θ/2

(

∫ 3r0/4

∆1/2(1−ε)
y−2−θ(y + ∆1/2)dy + 1

)

≤ C∆1/2+θε/2.

���� �
e∆
21

�� �
o(∆1/2)

v ���� �}~�����} � ��� ���� � } ��}� ���
e∆
22

v
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e∆
22

v � ������ ������� ���}� �

e∆
22

E
=

∑

0≤ti<T−4∆1−ε

1ti<τ∆,F (ti,X∆
ti

)∈]0,2∆1/2(1−ε)]

{

∇u(ti,X
∆
ti )(F−∇F )(ti+1,X

∆
ti+1

)

+
(

Z∆
ti f(ti,X

∆
ti )∆ + O(∆1/2+θ/2)

)

}

× 1τr0>τ∆ := e∆
221 + e∆

222.

��} �}��
e∆
221

~���}�� ���� �� ��} ��}������ v ��} �}��
e∆
222

~�� � } ~�������}�
� ��� �}~�����}� ��� ���� �� ��} ��}� ��}� ���

e∆
21

v � �� }���

|e∆
222|

E

≤ C∆1/2+θ/2(∆−1
∫ T∧τ∆

0
1(φ(t),Xφ(t))∈V∂D(2∆1/2(1−ε))dt)

E

≤ C∆1/2+θ/2(∆−1
∫ T∧τ∆

0
1(t,X∆

t )∈V∂D(3∆1/2(1−ε))dt)

E

≤ C∆1/2+θ/2∆−1
∫ 3∆1/2(1−ε)

−3∆1/2(1−ε)
Ly

T∧τ∆(F (.,X∆
. ))dy

E

≤ C∆1/2+θ/2∆−1
∫ 3∆1/2(1−ε)

−3∆1/2(1−ε)
(|y| + ∆1/2)dy ≤ C∆1/2+θ/2−ε

���~� ���
ε
�� ��� }����� ���}� �

o(∆1/2)
v

�32;035 3x
e∆
23

v � ������ ������� ���}� ��} ��}������ ~��� ��}�� ��� ��}
��� } ��}�� � }��}}�

T − 4∆1−ε ���
T
� ��� �

O(∆1/2+θ/2−ε) = o(∆1/2)
���

��} ���}� �}�� � v ���� ~����}�}� ��} ����� v
�/ 033x 3x / 03z3:8;832 , {� { � ��

t ∈ [0, T − ∆]
v ��� ���

λ ∈ [0, 1]
� �}�

s := t + λ∆, z :=x + λ(y − x).

��~}

F ∈ H2
�

F (s, z) ≥F (t, x) − C∆ + λ〈∇F (t, x), y − x〉 − C∆1−ε.
�� v��
��� 〈∇F (t, x), y−x〉 = F (t+∆, y)−F (t, x)+O(∆1−ε)

���~� �����}� ����
�� v�� � �}��� ���

∆
�� ��� }�����

F (s, z) ≥ F (t, x)(1 − λ) + λF (t + ∆, y) − C∆1−ε.

� ��� � ���~}
(t, x) 6∈ V∂D(2∆1/2(1−ε))

� ��}� � ���
∆

�� ��� }����� �
F (t+∆, y) ≥

F (t, x)/3
v ��} ����� �� ~����}�} v

�
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